ﬁ‘ 4@5/ (Jﬂ&sd'ﬁ:}
69’“/*‘2 /Zo(o Wiabl

1.0 zia < 7500 W 1T, L

-1
1w l?(saaéev x l.eoz;u)‘ 37
14 ‘ - a/
= 8.06x |0 q.// fstio—
A

16) A= z2x Wt % 18%e 1330 bafel = BN fa i o @
?MM A= NG“C?’ [i-a‘2é> P SR & O | G
A= Nod (2e)
b A
Nod g

A = L L (,ozz,mc?fz'/‘..x L I8 jl‘:,tfgd_?,

i e H
j 0.0\& 3 A&C HZD

-2
0= 053 amb v | x o }cw"*/mla

1= _:?;m?- B

12-3«3/;» 3.@'“3%\/
Fﬁ 814 /n_

- = 84 /4
2 - L 3
761 )‘(g’x 5.31107'8% * 1o /w‘://:_" 3.?3::5‘/4_

0.0%7594 Z/;)Z
t = (2t - 186 awna = 201 R

= .18 x\S%_

}C‘.‘) A(lpc]éhyb37 MG’% 1Lt = ¢¢5?‘2ﬂ (/A.)’Lx jod x 24‘%\)»_, x 366&»%:
L (1odop) = 62318 /o

dibchonfedon = o5 A _ Bk b _ 13,07
dAte A C2THIB s

oter uen M% w Tle nec den a.,?owj!»\ {zo/\\-ré,
) & rﬁ,..cxi.‘e,«_. Wuheﬁéﬂ@&hmj‘}




